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a

a

Answi:r lst question and M otherquestions.

First question carries 16 mlrks and all the other questions carry ll marks each.

01. ito findthe sum 6f the interior angles ofa triangle.

(i) Draw a rough diagram to shsw ttie way you'pastqd tho thres interior anglcs,pfa triangle;

:jIi

tiil Draw a rough diagram to show the way you paqted the four interior angtes ofa quadrilateral-
i

a
(03 rnarks)

, (iiil nTliC sum of the interior'angles of a quadrilateral = 2 x the sum sf the interior angles of a

iriangle"' '' '
veriff the above relationship using the answers of(i) and (ii) above.'

(b) (i) ' Fkidthe value ofe, b, c and d rifthe given.diagrarn. (04 marks)

(02 marks)(ii) Find the values ofx andyofthe diagram-

P = {digis inthe numbr"380200"}

Q. = {aUi*inthcnuriber"55l!5"}

(i) Exii6 P aud Q sets with its etrernents written within cur'ly braekets.'

(iii) Choose the set which has 5 as an elenent and write that in selnot1,o,1,

:

(0+ marks)

(o2 marks)

(O? marks)

(ffimarks)

- 03. (a) The tigure, shows a vegetable garden consist with
.i

shaped part.

t2m

a side 5cm

(o-2 mart(s)

and calculate the

' ' (0+ marks)

{i) Findtheareaofthe partABCD. $z marks)

(ii) If the , area of BCE is + of the area of

: ABCD. Find the lengIh of CE. (o3marks) ,

(iii) Find the total area ofthe land used to growvegetables,
-- r : t a.r :l r.

Draw a rough diagram of + cube with the Iength of
surface ,rrealof it. {

)

(b)

s4

.i
I
Ij
J
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04, (a) Simplit,
.7(i) lT' x 5

(ii) 3+ x2+

3.2x 0 .25tiiil 0S

is1* m' and its length is(b) If the area of the rectangle is 2* m-

(oz marks)

(02 rnarks)

(o: marks)

,2I- m.
7

Find the breadth of this
(o+ marks)

05. Ia) The price of a chocolate is Rs. 50 more than the four times of the price of an ice cream. The

(i) Ifthe price ofan ice cream is Rs. x, find the price ofa chocolate in terms ofx. (oz marks)

(il Accordrng to the above details, build up an equation with x and solve it. (os marks)

(iii) Findthepriceofachocolate. - '(02 marks)
l

(b) Factorize (02 marks)

4x - 12

.i

06. (a) Rs- 9500 ofmoney \ryas divided amongA, B and C, T.he ptio in which ifwas divided betweenA

and B is 3 :Zand between B and C is 3 :2.

(i) Findthe ratio'inwtrichthemoneywas dividedamongA, B and C. (o3 marks)

(ii) Find the amount ofri,oneyAieceives'as a fiaction out ofthe total amount. (0-2 marks)

(iii) Calculate the amount each person recieve separately. 1 (0+ marks)

(b) Tomakeacertainsweet2009ofsugar,5009offlourandl00gqfmaryiarineisused.Findthe

a

ratio of sugar to flourto margarine in the simplest form. \ (ozmarks)

A7 . (a) Express each ofthe following as apercentages.

.)
u?rL(l) :

5

(ii) 2+
(b) Saman took a loan

the end of a year.

(03 marks)

of Rs. 12000 from a bank. He had to a Rs: 2400 as the interest at

, (02 marks)(i) Express the intere st as a percextage ofthe loan.

1ii) IfKumarintendtotakealoanofRs.50000fromthssamebank. Findtheinteresthehasto
pay at the end of l st Year.

(0+ marks)

05
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Answer Sheet
Part - I

40

 Part - II

11

^01&

01. (i) 

(ii) 4

01

01 02

02. 01
7
5

x

012 02

03.
0 0 0

x + 30  + 110  = 180  
0

                    x = 40  

01

01 02

04. 42 x 2 = 84

              0.084 

01

01 02

05.
1
2

x 12 x 8 

2
= 48cm  

10
7

01

01 02

06. 2x = 8 

x = 4

01

01 02

07.
2
5

x 100% 01
2
5

x 

40% 40% 

20
20

01 02

08. {E, R, O} 02

09. 0 0
x + 30  = 90

0
x = 60

01

01 02

-4
-2

= 2 

10. -12 + 8 = -4 01

01 02

11. 0 0 0 0 y + 90  + 110  + 100  = 360  
0 y = 60  

01

01 02

12.
3 3

2 x x  
3

(2 x)  

01

01 02

13. 196 = 2 x 7 x 2 x 7 

  196 = 2 x 7 = 14 

01

01 02

14. 3 + 1 = 4 
3
4

01

01 02

15. -27 02

16. 4kg 150g 02

17. 3a 02

18.
1
4

02

19.
6
10

01

60
100

01=  60% 02

20. 02
or

0

(i)

0
x + y + z = 180  

01.

03

(a)

0
a + b + c + d = 360  

a b

cd

(ii) 03

x
y z

(i)(b)
0a = 60  

0
b = 120  

0
d = 40  

0
c = 20  

01

01

01

01

(ii)
0

x = 150  
0y = 30  

01

01

16

P = {0, 2, 3, 8} 

Q = {1, 2, 5} 

R = {  }

n (P) = 4 

n (Q) = 3 

Q

5  Q

Null set

02. 02

02

02

01

01

01

01

01

(i)

(ii)

(iii) 

(iv)

(i)

(ii)

(i)

(ii)

3
5

or

1st circle

20

a b

cd

(iii) 360º = 2 x 180º

360º = 360º
04

4 5
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^02&

(i) 12 x 5 
2

60m  

03. (a) 01

01
60
3

(ii) BCE  = 01
2= 20m  

1
2

x CE x 5 = 20 01

40
5

CE = 01

=  8m  01

(iii) 60 + 20 
2

80m  

01
01

25 x 5 = 25cm  

25 x 6 
2150cm  

(b)

01

01

11

7
2

(i)04. 01(a)

1
2

013

15
4

(ii) 01x
8
3

0110

3.2
0.8

(iii) 02= 4 

011

4
7

(b) 012  1
2
7

18
7

01
9
7

18
7

01x
7
9

2m 

11

01

(i) 4x + 50 05 02(a)

(ii) 2(4x + 50) + 4x = 400 

  8x + 100 + 4x = 400 

                  12x = 300 

                      x = 25

01

01

02

01

(iii) 4 x 25 + 50 

Rs. 150 

01

01

4 x x - 4 x 3 

4(x - 3) 

01
01

(b)

11

(i) A  :  B  :  C 

 3  :  2

        3  :  2

   x3    x2

9  :  6  :  4 

06.

01

(a)

01

01

9
19

(ii) 02

9500
19 

(iii) 01= 500 

A - 500 x 9 = 4500

B - 500 x 6 = 3000

C - 500 x 4 = 2000

01

01

01

Sugar : Flour : Margarine

 200  :  500  :  100

    2   :    5    :    1

(b)

01

01

11

2
5

(i) x 100% 07. 01(a)

9
4

(ii) 01

40% 01

9
4

x 100% 01

225% 01

2400
12000

(i) x 100% 01(b)

20% 01

20
100

(ii) 50000 x 02

Rs. 10000/= 02

11

Figure 01
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